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QUESTION 1

Which two statements correctly define the use cases for Business Process Execution Language(BPEL) vs. Business
Process Modeling Notation (BPMN) vs. Enterprise Service Bus (ESB)?

A. Decision Model and Notation (DMN) replaces BPMN in modern Cloud Architectures.

B. All are part of a typical/traditional on-premise enterprise integration strategy and can also be an important part of a
hybrid on-premises/Cloud architecture.

C. BPEL is inherently better than BPMN in managing orchestrations that involve people, because BPEL can also
interact with systems.

D. An ESB is used primarily for stateless messages and service mediation. The ESB construct is being replaced by
API\\'s and API Gateways in modern Cloud architectures.

E. BPEL and ESB are both good technologies for doing heavy transformations of data before sending the data to a back-
end system or database.

Correct Answer: DE

QUESTION 2

Which two options cannot be performed from the Monitoring Dashboard?

A. Activity Stream Download

B. Artifacts Download

C. Download Incident Logs

D. Download Lookup

E. Download Diagnostic Logs

Correct Answer: BC

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/monitoring-integration-
cloudservices.html#GUID-45976C83-37F1-4A6D-B79E-C749121B4E9E https://docs.oracle.com/en/cloud/paas/

integration-cloud-service/icsug/monitoring-integration- cloud-services.htmli#GUID-A18B7212-6246-40A1A7BB-
E495EE29A92A

QUESTION 3
Which two statements are true about Internet of Things (10T)?

A. Different IOT approaches need to be established integrate different technologies such as mobile, cloud, big data, and
analytics, and connects everyday objects to each other and to the Internet.

B. Cloud technology is well suited to enable 0T, offering high degrees of agility, low and flexible costs, and excellent
resource utilization.
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C. Using loT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and
more tailored services that differentiate their businesses.

D. 10T is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and
sensors that can be embedded into all of the various assets that need tracking.

Correct Answer: AB

https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf

QUESTION 4

Which three actions once they have been configured are allowed to be repositioned to another location within the design
canvas of an orchestration style integration flow?

A. Stage File with Write File operation

B. Stage File with Read File in Segments operation
C. JavaScript Call

D. Stage File with Read File operation

E. Switch

F. For Each

Correct Answer: AEF

QUESTION 5

Which Enterprise Application System can be integrated with Oracle Internet of Things (I0T) Cloud Service?
A. any system capable of receiving HTTP connections or making HTTP requests

B. only systems which are deployed on Windows or Unix platform

C. a system which exposes REST Service

D. a system which exposes WSDL

Correct Answer: C

https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/integrating-oracle-integration-cloud-service- oracleiot-cloud-
service.html
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